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N.B.: (1) Question No, 1 is Compulsory, 8!
(2) Solve any four from remaining questions. Y o

(8) Assume suitable data if Nsoeamary. O EREE T Caomp .

(4 Figures to the right indicate fuj| marks. & ' R

Given :

Re,=8kQ Ry =5000
Re, =500  R'-1.2kq

s =1-2kQ  h, =50, h_ < 1.7k0
P =hoe =0 [For both transistors]
V.. =20V |

(b) Fora three pole amplifier neatly draw magnitude and phase_ plot. Explain concept 8§
of Miller Compensation. o fsiey ; e

. (@) Design a class A transformer coupled Power amplifier for '.the‘following- 12

o/pacpower=5W V.=12v
Load resistance = 120 :

-
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(b) What is the need of heat sinks ? For a power MOSFET the thermal resistance
parameters are as follows. : -
Qdev —case — 1.75°C/W Qcase ~sink = 1°C/wW
stnk —amb ~ S°C/W Qcase —amb = 50°C/W

Fore =30°C T LT 2 10098

Draw electrical equivalent circuit for heat flow from device to ambience. Find Max™

~ power dissipation in the transistor when no heat sink is used and when heat sink

(b)

is used. .

] Draw a neat circuit diagram of a Wienbridge oscillator using op-amp. Expiain' its
- working. Derive expression for frequency of escillation and condition for sustained

oscillation. el
- Draw a neat block diagram of operational amplifier. Explain each block in detail.

~ What are the different types of switching regulators ? Explain operation of each-

regulator by drawing_ proper circuit diagram.
Draw a neat functional block diagram of IC 723 Explain function of each block.

‘Draw a neat circuit diagram of Log amplifier with saturation current and temperature
compensation. Derive expression for output voltage.

Draw a neat circuit diagram of a op-amp based positive clipper circuit. With the

help of suitable waveforms explain its working. For the explaination consider the
following cases and draw input output waveform for each case : :

(i) Vref =0 -
(i) V>0
(i) vV <0

B Write shdrt ndtes on following (any two) :—

(a) Three op-amp Instrumentation amplifier
- (b) Full wave precision rectifier
(c) Practical Integrator

(d) Class A-B pushpull amplifier.
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